Приложение 1.

Квадратные уравнения.

Полные 

1) ах2 + вх + с = 0

D = b2-4ac
D ( 0, то уравнение не имеет решений.

D = 0, то х = 
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D ( 0, то х =
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2) ах2 + 2кх + с = 0

D1 = к2-ac
D1 ( 0, то уравнение не имеет решений.

D1 = 0, то х = 
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D1 ( 0, то х =
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3) х2 + 2кх + с = 0

D1 = к2-c
D1 ( 0, то уравнение не имеет решений.

D1 = 0, то х = -к

D1 ( 0, то х =
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4) ах2 + вх + с = 0

а + в + с = 0
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5) ах2 + вх + с = 0

а-в+с = 0
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Неполные


1) ах2 + вх = 0

х (ах + в) =0
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2) ах2 + с = 0

х2=
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если 
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 EMBED Equation.3  [image: image12.wmf]³
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3) ах2 = 0

Х=0
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